

$$\mathbb{R}_F: [r, +\infty)$$

$$R_f: [-1, +\infty)$$

$$K = -C$$

A hand-drawn graph of a cubic function on a Cartesian coordinate system. The curve starts from the bottom left, crosses the x-axis, reaches a local maximum in the second quadrant, crosses the y-axis at a positive value, reaches a local minimum in the first quadrant, and then crosses the x-axis again to continue upwards. There are two points marked on the y-axis: one at the local maximum and one at the local minimum.

$$\begin{aligned} -r \leq n < -1 & \xrightarrow{[n] = -r} y = -rn - r \\ -1 \leq n < 0 & \xrightarrow{[n] = -1} y = -rn - 1 \\ 0 \leq n < 1 & \xrightarrow{[n] = 0} y = -rn \\ 1 \leq n < r & \xrightarrow{[n] = 1} y = -rn + 1 \\ n = r & \xrightarrow{[n] = r} y = -rn + r \end{aligned}$$

2) $y = [r_n] - r_n \rightarrow \begin{cases} \leq [r_n] - r_n < 1 \\ \geq [r_n] - r_n > -1 \end{cases} \rightarrow \mathbb{R}_I = (-1, 1]$



$$a) y = r \sin x + r \cos x \quad [-\sqrt{r^2}, \sqrt{r^2}] \quad -\sqrt{r^2} \leq r \sin x + r \cos x \leq \sqrt{r^2} \Rightarrow \boxed{K_f: [-\sqrt{r^2}, \sqrt{r^2}]}$$

$$b) y = r \sin x - r \cos x \rightarrow -\sqrt{r^2} \leq r \sin x - r \cos x \leq \sqrt{r^2} \Rightarrow \boxed{K_f: [-\sqrt{r^2}, \sqrt{r^2}]} \quad (5)$$

$$c) y = [r \sin x + 2 \cos x] \rightarrow -\sqrt{r^2 + 4} \leq r \sin x + 2 \cos x \leq \sqrt{r^2 + 4} \Rightarrow \boxed{K_f: [-\sqrt{r^2 + 4}, \sqrt{r^2 + 4}]} \quad (5)$$

$$d) y = \sqrt{r^2} \sin x - r \sin x \rightarrow -\sqrt{r^2} \leq \sqrt{r^2} \sin x - r \sin x \leq \sqrt{r^2} \Rightarrow \boxed{K_f: [-\sqrt{r^2}, \sqrt{r^2}]} \quad (5)$$

$$a) y = \sin^2 x + r \sin x + r = (\sin x + 1)(\sin x + r) \quad \begin{matrix} \text{Max } \sin x: -1 = (-1)(1) = -1 \\ \text{Min } \sin x: 1 = (1)(1) = 1 \end{matrix} \Rightarrow \boxed{K_f: [-1, 4]} \quad (5)$$

$$b) y = r \sin^2 x + r \sin x + r \quad \begin{matrix} \text{Max } \sin x: -1 = r - r + r = r \\ \text{Min } \sin x: 1 = r + r + r = 3r \end{matrix} \Rightarrow \boxed{K_f: [r, 3r]} \quad (5)$$

$$a) y = \sin^2 x + \varepsilon \cos^2 x = \sin^2 x + \varepsilon(1 - \sin^2 x) = (1 - \varepsilon)\sin^2 x + \varepsilon \quad \begin{matrix} \text{Max } \sin^2 x: 1 \\ \text{Min } \sin^2 x: 0 \end{matrix} \Rightarrow \boxed{K_f: [\varepsilon, 1]} \quad (5)$$

$$b) y = \frac{r \cos x}{(1 + \cos x)} = \frac{r \cos x}{\frac{1 + \cos x}{\sin x}} = r \sin x \cos x = \frac{\sin 2x}{2} \quad \begin{matrix} \text{Max } \sin 2x: 1 \\ \text{Min } \sin 2x: -1 \end{matrix} \Rightarrow \boxed{K_f: [-1, 1]} \quad (5)$$

$$a) y = \sin^4 x + \cos^4 x = 1 - r \sin^2 x \cos^2 x = 1 - r \sin^2 x (1 - \sin^2 x) = 1 - r \sin^2 x + r \sin^4 x = r \sin^4 x - r \sin^2 x + 1 \quad \begin{matrix} \text{Max } \sin^2 x: 1 \\ \text{Min } \sin^2 x: 0 \end{matrix} \Rightarrow \boxed{K_f: [\frac{1}{4}, 1]} \quad (1, 10)$$

$$b) y = [\sin^4 x + \cos^4 x] \rightarrow \sin^4 x + \cos^4 x = (\sin^2 x + \cos^2 x)^2 - 2 \sin^2 x \cos^2 x = 1 - 2 \sin^2 x \cos^2 x = 1 - \frac{1}{2} \sin^2 2x = 1 - \frac{1}{2} (1 - \cos^2 2x) = \frac{1}{2} (1 + \cos^2 2x) \quad \begin{matrix} \text{Max } \cos^2 2x: 1 \\ \text{Min } \cos^2 2x: 0 \end{matrix} \Rightarrow \boxed{K_f: [\frac{1}{2}, 1]} \quad (1, 10)$$

$$1 - k \leq \sin^k x + \cos^k x \leq 1$$

$$r - \varepsilon \leq \sin^{\Lambda - k} x + \cos^{\Lambda - k} x \leq 1$$

$$\Rightarrow \boxed{K_f: [1, 1]}$$

$$\boxed{[\frac{1}{\Lambda}, 1]} \Rightarrow \boxed{K_f: [1, 1]} \quad \{0, 1\}$$

$$\text{الف) } y = \frac{2n^2 + 5n - 8}{n+2} \rightsquigarrow n^2 + 5n - 8 = (n+2)(n-1) = \frac{(n+2)(2n-1)}{(n+2)} = 2n-1 \quad (10)$$

$$n \neq -2$$

$$y \neq 2(-2)-1 \neq -5$$

5

$$\sqrt{\begin{cases} \mathbb{R}_F: \mathbb{R} \\ y \neq -5 \end{cases}}$$

$$\boxed{\mathbb{R}_F: \mathbb{R} - \{-5\}}$$

$$\Rightarrow y = \frac{n^2 - 1}{n - 1} \cdot \frac{(n-1)(n^2 + n + 1)}{(n-1)} = n^2 + n + 1$$

$$-\frac{A}{\epsilon a} = \frac{-(1-\epsilon)}{\epsilon} \Rightarrow \frac{\epsilon}{\epsilon} \rightarrow$$

$$IR_f: \left[\frac{\epsilon}{\epsilon}, +\infty \right)$$